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QUESTION 1

In which segment of database shared memory are bufferpools created by default? 

A. Resident portion 

B. Flash portion 

C. Extended portion 

D. Volatile portion 

Correct Answer: A 

 

QUESTION 2

A developer is writing an embedded SQL application written in C. What software does she need to develop and test the
application against a remote Informix database? 

A. Informix Client Software Development Kit (CSDK) 

B. IBM Data Server Client 

C. IBM Data Server Driver for ODBC, CLI, and .NET 

D. Informix ODBC Driver 

Correct Answer: A 

 

QUESTION 3

Which Informix edition, at a minimum, would permit a Global company to deploy multiple database backup sites for
protection against man-made or natural disasters? They want to include oneshared disk secondary, as well as one
Remote Secondary Server in their plan. 

A. Informix Ultimate-C Edition 

B. Informix Growth Edition 

C. Informix Ultimate Edition 

D. Informix Innovator-C Edition 

Correct Answer: B 

 

QUESTION 4

At the operating system level, what is thename of every Informix process? 
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A. informix 

B. oninit 

C. cpuvp 

D. root 

Correct Answer: B 

 

QUESTION 5

TheXYZ Company\\'s failover recovery strategy requires a backup site; however, they do not have a constant or
uninterrupted communication link to that site. What type of high availability configuration should be used? 

A. Two Shared Disk Secondary (SDS) servers with hardware disk mirroring 

B. A High Availability Data Replication (HDR) secondary server running in SYNC mode 

C. Continuous Log Restore (CLR) with backup and recovery 

D. Enterprise Replication (ER) 

Correct Answer: C 
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